%/‘?ﬁ}}‘é“""” =

113 B 43l 2 B 27 AR D R A PR F 2
SHP e B A RS L R LR RARA ¢
A BRAEHE 113 E 130
P4 T RBERE HRER AyipE 113 &7 23 p
Pr AUt 4 5 S P kAT Y Y A
748,160 0 183,227 183,227 564,933
W | PE R n PEUT ] meemes s emeG AT | £ 818 ey
i ok pigt 24 S
ER Sl R
LA NEHSE Y a0
me 7
R T A R 2B P4
P TR ER 06000 % 5,000 = :
E¥iguit i 3Lt & oL
W
ML TFRF AR [ (A0
A=k AP &3 5000 &




S5

G

—4
¥
=

Y
m.‘_

g
o~
>
o
~m

A= @ ;—%—
A1

hPTR R 2 2R (R )T R

£ AP PR

APTERRE

LAY iy @ 3P ?
B 7

2. E= 4

2 174,802~ 135,227 =~
3 - ’ 3w & T
wpo
A n T ASE: [JdE  [JAidiE
e R &% 135227 ~
APFERESE
LA dgged ik e LE AR 2
WL (7
2 Ee- 4
SEHES H Y mae
3 82,400 ~ 24,200 = | 3[JFA# T FH
K
wpo
At FRgEEE [Juid [JAEHE
IR AP £ 24200 ~
APFEREE
LAhG@Eee gtF v 2 L3ApE?
Wiz
EREPR IR E 27 2 Py
4 | " TR 116,448 14800 =~ | T
Wit g B[ A = L

ER
AT TR AR il [JRELE
AP AP LT 14800 =




A=
W
e

A= @ ;%—

gy | BPTERFEISRALEHARTA | LA EpEy

Wi | v E A

Y
m.‘_

g
o~
g
oy
o

R sEaa R
Lahiggee i » e LTApE Y
HEANES

2 18 4

3. 4D T

W

AT FHRFEEE [JLB [JALE
A RRA P EEI0R

oAk A
5 7 E X GF - | 148,500 ~ 0~
£

PR B R
Lt B sy i h T £ LFA 2

Rl

R A T A4 2E7 s
6 N ™ 1120,010 & 4,000 = o
SRR ET R 3R T

w
AT TFHREEEY: [J0E [JALBE
AE bR P4 &3 14,000 &




